STYKLISTE

MODEL UH303D

Side 1

Pos. Art.nr. Betegnelse Stk. Note
001 857620-9 TYPESKILT UH303D 1
002 182683-9 MOTORHUS (INCL. 20) 1
INC. 20
003 423134-6 SKUMGUMMI (UH301DW) 1
004 321902-0 SPINDEL (UH302D/3070DW) 1
005 226436-7 TANDHJUL 52 UH302DW 1
006 342819-4 PLADE (UH3000D/2D/70DW) 1
007 164916-4 EXENTER (UH302D) 1
008 262531-9 STIFT 4 UH3000DW 2
009 414520-2 SKAERM (UH302D) 1
010 252110-1 6KANT-M@TRIK M4-10 1
011 226807-8 TANDHJUL 14-34(UH302D) 1
012 253077-6 UNDERLAGSSKIVE 6 (6510LVR) 1
013 321902-0 SPINDEL (UH302D/3070DW) 1
014 629669-7 MOTOR 1
015 651852-8 AFBRYDER V-15-1A5 1
016 410817-7 AFBRYDER KNAP (UM1690DW/1D) 1
017 414169-8 KONTAKTSPZARRE 1
018 231390-2 TRYKFJEDER 3 (UH3000D/70 1
019 655409-7 TILSLUTNINGSBOSNING 1
020 182683-9 MOTORHUS (INCL. 20) 1
INC. 2
021 265874-8 SKRUE M4X20 5
022 819063-3 MAKITA KLABEMARKE 1
023 192450-4 GRIFFSET (INCL. 24) 1
INC. 24
024 911258-5 SKRUE M5X35 2
025  344146-5 AUFNAHMEPLATTE 1
026 122490-8 KOMPLET SVZARD (UH303DST) 1
027 251307-9 SKRUE M4x15(+) 4
028 251329-9 SKRUE M4x10 1
A0l 414428-0 SVARDBESKYTTER (UH302D) 1




EKSPLOSIONSTEGNING

Side 1

MODEL UH303D

=
STEET

o




